TOP

T=1.0[min]

X x 1
[L/day] [L/min]| G[kg] [/ 1] [min/day] [o/ 1
0 0 0 80 X 720 X 15
0 0 0 80 X 720 X 10
0 0 0 70 X 720 X 8
0 0 0 50 X 720 X 5
0 0 0 45 X 720 X 5
0 0 0 20 X 720 X 2
0 0 0 45 X 600 X 5
0 0
[L/min] [ka]
1
10[h]
10[h]
:% [10h] [5h] [1/min]
[1] [1] kgl 1/7
[I/min]=n[ /day]x Vn[l/ ]x 1/t[min/day]x K
K: =3.5
[kgl=n[ /day]x g[g/ 1x i[day]x 1/1000[kg/q]
n[ /day] :
vn[l/ 1]
t[min/day] :
K =3.5
G[kg]
gle/ 1
[11
[L/day]
[L/min] 1[L] 2[L]
0 0 0 0
0 0 0 0
0 0 0 0
0 0 0 0
0 0 0 0
0 0 0 0
0 0 0 0
0 0 0 0
V[L]=V1+V2 0 [L]
[ 1
V(L) H2(mm)
a T 501 800 175
4j27 i (qut 801 1,000 200
| 77 7
e v i V[L]= VrLL]+ VL] v2[I]
= Vi S H[mm]= H1[mm]+ H2[mm]
v Vl=n g i 1/1000 v V=V1+V2[L]
" " v=1.0[L/kg]: =V 14V L]
V2=Q T H=H1+H2[mm]



http://setubi.d.dooo.jp

